ARTICLE.

Assembly Instructions

/(1) WIT+08T STORAGE

Bed



ARTICLE.

ASSEMBLY INSTRUCTIONS

Read these instructions carefully and keep for future
reference. Refer to parts inventory for guidance, and

ensure you have all pieces before starting.

When assembling, place all parts on a soft, clean, and flat

surface such as a carpet to prevent scratches.

If you’re having difficulty, our friendly Customer Care
team is always here to help. Call us at 1.888.746.3455
during business hours, email service@article.com or chat

live at article.com.

A

DO NOT SIT OR STAND ON NIGHTSTAND
MAY CAUSE INJURY AND/OR STRUCTURAL DAMAGE

~

PARTS INVENTORY

ID DESCRIPTION QTY
o HEADBOARD / FOOTBOARD 2
e SIDE RAIL 2
G CENTER BEAM 1
o CENTER LEG 2
G 6/$T6

TIME

Leif WillhRXIl Storage Bed

O O
L &Y

# OF PEOPLE

Page 2 of

DIFFICULTY

DO NOT DRAG BED, ALWAYS LIFT WITH
AT LEAST TWO PEOPLE BEFORE MOVING

HARDWARE LIST

ID DESCRIPTION QTY
» ALLEN KEY (ﬁ 2
e M6 x 35MM BOLT ammp) | 16
@ M6 x 20MM BOLT 1«(«1@1«1«(««(«««(«@ 4
a M6 LOCK WASHER @ 20
e M6 WASHER 20
’ M8 x 20MM BOLT 4
G M8 x 50MM BOLT 12
@ M8 LOCK WASHER @ 16
m M8 WASHER 16



mailto:service@article.com

ARTICLE.

Leif WilhRX!l Storage Bed

Page 3 of




ARTICLE. /Hil WilhRXIl 6IRUDIH %HG Page of

©

o =i |
o i




ARTICLE. /Hil WilhRX)l 6IRUDIH %HG Page of

3

80%

=

@ Do not fully tighten bolts.

/ N\ Make sure woodcleat is on the
N bottom of the siderails.




ARTICLE.

/Hil WillhRXIl 61IRUDJH %HG

Page

of

100%

— T T T =
/// T~
_ ~
/ AN

Fully tighten all bolts on each corners and center /
frame after assembling the center frame. /

Adjust leverller on floating center
leg to allow for a 2-3mm clearance


tuyenvm
Line

tuyenvm
Line

tuyenvm
Line

tuyenvm
Line

tuyenvm
Line


Page of

/Hil WilhRXIl 6IRUDJH %HG

ARTICLE.




s v= 8

s 80 AR







	1111.pdf
	AI- Leif White Oak Storage Bed.pdf
	Extracted pages from AI- Leif White Oak Storage Bed.pdf


